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江戸時代の生地

～Edo period fabric～
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英語訳

現代語訳 英語訳

数学的内容

まとめ・今後の課題・感想

First cotton is 1150 tan second cotton is 1200 tan,.third cotton is

1650 tan.3 persons buy these cotton at 250 ryo.One of them pays 100

ryo,another person pays 80 ryo,the other person pays 70 ryo.these

cotton are divided into three people in the respective proportions.

Solution:

The person who pays 100 ryo.First cotton 460 tan.Second cotton 480

tan.Third cotton 660 tan.The person who pays 80 ryo.First cotton 368

tan.Second cotton 384 tan.Third cotton 528 tan.The person who pays

70 ryo.First cotton 322 tan.Second cotton 336 tan.Third cotton 462

tan.

The calculation is called Nagasakikaimonoshiwakezan in the public.

◎江戸時代の生地

価値の高い順から 紬>絹>木綿>麻
①麻…弥生時代からある日本最古の素材
②木綿…江戸時代の普及品

↓
絹に比べ光沢に乏しく高級感はない
③絹…光沢があり丈夫 贅沢品で庶民にはあまり手が届かなかった
④紬…織り方が特殊で大変手がかかる とても高額で高級だった
徳川吉宗は自ら木綿を着用し質素倹約を推進していた

和算での単位が現在の単位で表そうとすると
小数になるためイメージしづらかった

学校で習う英語で数学的内容を英訳できない
から難しかった

この問題は、布を三人の投資の割
合に等しく分ける問題だった

単純なものだが、数学の本質を問
うものだった

和算用語を、英語でできるかぎり伝わるようにする
スペースをきれいにできるように内容を分割する

まとめ

今後の課題

感想
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江戸文化

◎Edo period fabric

From highest value：pongee＞silk＞cotton＞hemp
①Hemp…Japan's oldest material since the Edo period
②Cotton…Popular items in the Edo period

①,②⇒Less shiny than silk and luxurious feeling
③Silk…Shiny, and strong. Luxury goods did not reach much for commoners.
④Pongee…Weave is special and it takes a lot of trouble.

It was a very expensive and luxury item.
Tokugawa Yoshimune himself wore cotton, promoting frugality of frugality.
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This problem was a matter of equally dividing 
the fabric into the proportion of the 
investment of the three people. It was simple, 
but asked the essence of mathematics

Ｓｕｍｍａｒｙ Ｉｍｐｒｅｓｓｉｏｎ

It was hard to imagine because it becomes a 
small number when unit of summation is 
trying to be expressed in current unit. It was 
difficult because I can not translate 
mathematical contents in English learned at 
school.

Future tasks

Make summary words communicate as much 
as possible in English. Divide the contents so 
that the space can be cleaned.
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